HAKEEERE (FER2595H)

E kot 1% B H Tr25E5 21 A | k255 A 22 A k255 21 A
#r K % Z4 g SRS HAR 2 oK BKS PR S R K FLE K S R §
HAL FEE(E

i 7k it % X CHES X 18 PN 3 AR REHKSG 1N R T
£ 1 Ho | RERTE | e s P ANER | AR T SR k7 Rt |ABIERSTE| KA HN SRS R R H AT Huy

= ik 22.5 21.0 24.0 24.0 27.2 24.0 24.5 26.0 21.0 22.0 25.5 23.0 C

N it 18.5 18.5 17.5 18.8 18.5 18.2 19.5 15.5 16.2 18.5 17.2 14.5 C
1 fise fn 0 0 0 0 0 0 0 0 0 0 0 0 4E£7%/mo 100LAF
2 |k 15 [ N N N N AR N AR AR AR AR EN s e [ ea ey VN AN
3 F Y oA RO oE O b AW — — — — — — — — — — — — mg/0 0.003mg/ 0L F
4 K ficg K [0} ka D 1t & L7 — — — — — — — — — — — — mg/0 0.0005mg/0LL T
5 [& rr Kk Wz o kA Y — — — — — — — — — — — — mg/0 0.01mg/0LLF
6 |81 )3 [0 z » 1t & W 0.001A 0.001 7 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 17 0.00 17 mg/0 0.01mg/0LAT
7 e # 3 [ ot & 0w — — — — — — — — — — — — mg/0 0.01mg/0LLF
8 [~ il 7 =4 FA 1t & L7 — — — — — — — — — — — — mg/0 0.05mg/0LL T
9l 7 v e B o4 F v R W W e v 7 | 0.001FE 0.001 3 0.001 3 0.001 3 0.001 3 0.001 3 0.001 53 0.001 5 0.001 55 0.001 53 0.00 1A 0.001 A mg/0 0.01mg/QLLF
100 B B o F &k U OE M OB O T XK 0.43 0.39 0.43 0.43 0.43 0.43 0.40 0.56 0.58 0.32 0.35 0.43 mg/0 10mg/0LL T
1|7 # Ok U o e A& W 0.08Kd 0.083ii 0.083ii 0.081ii 0.08ii 0.081ii 0.08 i 0.08 i 0.081i 0.08 i 0.11 0.08il mg/0 0.8mg/0LL T
12 |7 F* K [0} - D 1t = L] — — — — — — — — — — — — mg/0 1.0mg/0LL T
13 [ i {t 174 ES — — — — — — — — — — — — mg/0 0.002mg/0LL T
14 |1 R 4- P4 n * 2 v — — — — — — — — — — — — mg/0 0.05mg/0LL T
15 |V A-1, 2-v/upF Ly KT A1, 2-Y/apF L — — — — — — — — — — — — mg/0 0.04mg/0LL T
16 [~ 7 =] =] A vd v — — — — — — — — — — — — mg/0 0.02mg/0LL T
17 |7 k 7 7 =1 =] T ¥ 1% v — — — — — — — — — — — — mg/0 0.0lmg/0LL T
18 [k ) 7 =] =] = a v v — — — — — — — — — — — — mg/0 0.01mg/0LL T
19 [ v v v — — — — — — — — — — — — mg/0 0.0lmg/0LL T
20 | # 2| 0.06K7M 0.06:41# 0.06:4# 0.06:41# 0.0641 0.0641# 0.08 0.06ATit§ 0.06:41 0.06:41 0.06417 0.06A7it5 mg/0 0.6mg/0LL T
21 |7 = ik 2| 0.00241 0.002A 0.002A3 0.002A 0.002A 0.002A 0.002A 0.002A 0.002A 0.002A 0.002A7 0.002£7ifi mg/0 0.02mg/ QLA T
22 |7 = = * i 2 0.002 0.006 0.003 0.004 0.004 0.004 0.006 0.002 0.00 1A 0.001 A% 0.001 A% 0.001 A1 mg/0 0.06mg/QLL T
23 [~ 7 = = ik B 0.004A 0.004Aif 0.004A7i 0.004A 0.004A3 0.004A 0.004A3 0.004A 0.004A 0.004A3 0.004A3 0.004A3 mg/0 0.04mg/ QLA T
uly 7 m = oy m oowm A B v 0.005 0.007 0.006 0.006 0.006 0.006 0.007 0.003 0.001 A7 0.002 0.002 0.001 A mg/ ¢ 0.1mg/0LL F
25 |5 # B 0.001A5 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.00 1A 0.001 4 mg/0 0.01mg/QLL T
26 |#4 k Y N = A 4 v 0.01 0.02 0.01 0.02 0.02 0.02 0.02 0.01 A 0.01 A 0.01 A 0.01 4 0.01 4 mg/0 0.1mg/QLA T
27 [k ) % = m e el 0.025K0M 0.02:4 0.02:4 0.02:4 0.02A75 0.02K75 0.02K75 0.02K75 0.02:4 0.02K75 0.02it5 00241 mg/0 0.2mg/0LA T
287 = = ¥ s 9w w2z & v 0.004 0.008 0.005 0.006 0.006 0.006 0.008 0.004 0.001 A7 0.002 0.001 A7 0.001 A mg/0 0.03mg/QLL
29 |7 = kS N v A 0.005A7m 0.005 A7 0.005 A7 0.005 A7 0.005 A7 0.005 A7 0.005A73; 0.005A7; 0.005A755 0.005 A7 0.005A7i; 0.005Ai5 mg/0 0.09mg/0LL T
30 |7 L N 7 2 7 3 K[ 0.0085:1H 0.008437 0.008437 0.008A17 0.008A1 0.008A17 0.008A3 0.00843 0.00843 0.00843 0.008437 0.008Aili mg/ 0 0.08mg/ QLA
31 (df fiay & [0 * D 1t & L7 — — — — — — — — — — — — mg/0 1.0mg/0LL
27 A+ 2 = v n kU F 0 b A B 0.03 0.02 0.02A47it§ 0.05 0.03 0.05 0.02 — 0.02A7it§ — 0.0247 — mg/0 0.2mg/0LA T
33 |8k % (0 * » 1t & | 0.034m 0.03A:4iti 0.04 0.03A:ii 0.03A]ii 0.03A:]ii 0.03A:ii 0.03A:ii 0.03A:1ii 0.03A:ii 0.03A:it5 0.03Ait5 mg/0 0.3mg/0LL T
34 |4 ® [0} z » 1t & L] — — — — — — — — — — — — mg/0 1.0mg/QLLF
Bl KV ToA kOB E O b AW 8.4 8.5 8.5 8.8 8.5 8.7 8.7 — — — — — mg/0 200mg/ 084 T
Bl ¥ H o KOV o b & ® 0.005K 0.005437 0.018 0.030 0.012 0.025 0.005A7 0.005Ail — — — — mg/0 0.05mg/0LA T
37 |t 1t 7 A = v 13.9 14.0 14.3 14.1 14.1 14.3 14.4 7.4 8.4 10.4 9.2 8.5 mg/0 200mg/ 0L T
/Iy vy A w7 Ry A% (B OE) 29 34 35 31 32 30 32 — — 46 47 — mg/0 300mg/ 0L T
39 |#% % % B’ 7 69 70 62 68 42 66 54 43 — 89 83 — mg/0 500mg/0LL
40 |2 4 *+ v b i1} 5 M #il — — — — — — — — — — — — mg/0 0.2mg/0LA T~
41| = * b 2 > 0.000002 0.000001 0.000002 0.000001 0.000001 0.000001 0.000001 0.000001 A5 — — — — mg/0 0.00001mg/0LL T
22- A F r A4 v K A F A — ] 0.000001A | 0.000001A | 0.00000 1A | 0.000001A; | 0.000001 A | 0.000001 A | 0.000001Ai | 0.000001 A — — — — mg/0 0.00001mg/QLL T
43 |3k A K v b i} T [ Al — — — — — — — — — — — — mg/0 0.02mg/0LL
44 |7 = Vi — v H — — — — — — — — — — — — mg/0 0.005mg/ 084
BslE K (& A BKR KX (TOC) O &) 0.5 0.4 0.5 0.5 0.5 0.5 0.5 0.3 0. 135 0.3 0.1 0.1 mg/0 3mg/0LA T
46 [p H it 7.3 8.0 7.3 7.3 7.3 7.3 7.7 7.3 7.7 7.1 8.0 7.1 5.824 -8.6LL
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50 |1 BEl 0.1 0. 1435 0.2 0.1 0. 1A 0. 1445 0. 1435 0. 1435 0. 1435 0. 1435 0. 1435 0. 1435 3 2L

g it V24 ® oA # 0.4 0.3 0.3 0.4 0.4 0.3 0.2 0.3 0.4 0.3 0.3 0.4 mg/0 0.1mg/0LA |




